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9 &E SEUH| : ZA8= SO, NO2, CO, PMig, SIHe= O3
7 & SOz (ppm) NO2 (ppm)| Oz (ppm)| CO (ppm) | PMio (£8/m’)
= = 0.004 0.020 0.032 0.4 48
& = 0.005 0.027 0.023 0.5 61
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== 0.004 0.020 0.032 0.4 48
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- 0.005 0.023 0.027 0.5 50
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0~50 25.27 17.74 20.97 27.96 17.07 18.01 19.22 0.00 0.67
51~100 70.43 75.13 74.33 66.13 77.96 77.02 73.92 90.99 91.8
101~150 1.21 3.49 1.61 1.34 1.88 2.55 2.02 417 3.09
151~250 2.42 2.28 2.02 2.69 2.28 1.34 2.69 2.96 3.09
251~350 0.67 1.21 1.08 0.94 0.81 1.08 2.15 1.08 1.34
351~500 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.81 0.00
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@® QTN LAE, UVetel a2tHl== 11~16A1 ALOI0I 0.39~0.49, 0.35~0.45&2
LIEFSO,10Al 018t 17A] 012 BR= 0.14~0.45,0.25~0.512 Sg=8F S Xoh
QoL OE XI&2 dl=obil LIEHHS.

® 11~16A T2 TDIQRSTF AZH4E RE SHANAM 02 NO, -0.60~0.71,
PM10 2t SO, 0.65~0.7022 &2t2tH It JtE = LIEHHS

@ 10AI OI™I}F 17A1 O1=2 DI =SE!HS| a2H+= 25 SEA0UA Ozt NO.

-0.75~-0.80, Ozt &= 0.63~0.682= & 22tH It JtE = LIEHES,

@® NO2t CO &r2tHl=== 10Al OI& I 17A1 0122 A== 0.56~0.80, 11~16A1 A=

0.34~0.6022 &2HHl=Jt =0t HIILESE =2 NS P! W2 LIEIEHS.
(=]

IS8sS

Correla 11~16Al Xt& 10Al OI&, 17Al OIZXZ

tions | 03 | NO2 | NO | NOX | SO2 | CO PMI0| 03 | No2 | NO | NOX | so2 |co| PMm10

03 | 1.00 1.00

NO2  -0.60 1.00 077 1.00

NO | -0.51 0.73 1.00 050 0.64 1.0

NOX | -0.60 0.95 0.90 1.00 069 088 092 1.00

S02 | 032 018 015 019 1.00 001 033 046 044 1.00

CO | -0.17 043 042 045 0.13 1.00 057 068 067 075 029 1.00

PMIO | 0.42 0.06 000 004 0.68-0.06 1.00 -0.08 041 037 043 061 032 1.00

28  -0.04 -0.07 006 -0.02 -0.19 0.18 -0.11 015 -0.21 -0.05 -0.13 —-0.12-0.02 -0.18

24 | 032 -032 -0.26 -0.32 027 -0.16 0.25| 0.63 -0.56 -0.27 -0.44 -0.10 -0.43 -0.12

2% 081 014 -0.09 012 021 -0.12 031 039 -0.19 -0.12 -0.17 000 -0.26 0.08

UAZ 039 -0.21 -0.05 -0.16 0.18 -0.01 0.13] 0.34 -0.22 -0.09 -0.15 0.08 -0.06 0.04

U 035 -0.24 -0.05 -0.17 011 -0.01 005 088 -0.25 -0.14 -0.19  0.05 -0.10 0.01

(=]

S83

Correla 11~16Al & 10Al OI&, 17Al OIFE XK=

tions | o3 | NO2| NO | NOX | so2 | co [Pmio] 03 | No2 | NO | Nox | so2 | co ||Pmio

03 | 1.00 1.00

NO2  -0.64 1.00 078 1.00

NO | -0.58 0.81 1.00 052 068 1.00

NOX | -0.65 0.97 0.93 1.00 070 090 093 1.00

S02 | 013 043 036 041 1.00 013 053 045 053 1.00

cO | 006 006 021 012 032 1.00 045 056 062 065 049 1.00

PM1O | 0.28 0.6 014 016 065 009 1.00 004 031 027 032 062 028 1.00

25 | 0.05-0.23 -0.06 -0.17 -0.13 024 -0.09 015 -0.21 -0.08 -0.15 -0.02 0.04 ~0.01

4 | 043 -042 -0.32 -0.39 0.06 -0.15 032 0.63 -0.56 -0.31 -0.46 -0.15 -0.34 0.09

2% 018 011 004 008 017-027 021 031 -0.10 -0.11 -0.11 006 -0.33 0.14

UAIZ 040 -0.41 -0.16 -0.33 0.6 0.29 0.19] 0.14 -0.11 -0.05 -0.07 013 0.14 0.15

U 0.37 -0.45 -0.17 -0.36 0.08 0.30 041 025 -0.18 -0.10 -0.13 0.0 0.07 0.13



SMS

Correla 11~16A1 X2 10Al OI&, 17Al OIEXIZ
tions | 03 | NO2 | NO | NOX | SO2 | CO |PMIO| O3 NO2 ~NO NOX SO2 CC PMI0
03 | 1.00 1.00
NO2 | -0.71 1.00 -0.79  1.00
NO | -0.64 0.82 1.00 -0.47  0.63  1.00
NOX | -0.71 0.96 0.95 1.00 -0.68  0.88 0.92  1.00
SO2 | 0.25 0.33 0.21 0.29 1.00 -0.13 053 0.29 0.44  1.00
CO | -0.03 0.34 0.20 029 0.53 1.00 -0.55 0.72 0.80 0.85 0.45 1.00
PM10 | 0.32 0.14 0.10 012 0.70 0.39 1.00/ 0.03 0.34 031 036 060 047 1.00
Zs | 0.09 -0.29 -0.15 -0.24 —0.18 -0.10 —-0.07 —0.09 -0.06 -0.07 ~-0.07 -0.08 —0.02 —0.09
Z% | 043 -0.35 -0.26 -0.32 0.21 -0.14 0.26 0.65 -0.56 -0.30 -0.46 ~-0.19 -0.44 —0.06
2% 017 024 015 021 032 0.07 027 024 0.02 -0.04 -0.02 017 -0.11 0.13
UAZ  0.47 —0.44 -0.18 —0.34 0.19 —-0.04 0.14 040 -0.37 -0.07 -0.20  0.07 -0.12 0.08
UV 0.43 -0.48 -0.19 -0.36 0.10 -0.09 0.06. 0.43 —0.39 -0.12 -0.24  0.08 -0.19 0.06
Hia 2
— o -
Correla 11~16A1 X2 10Al OI&, 17Al OIEXIZ
tions | 03 NO2 NO NOX SO2 CO PMIO| 03 NO2 ~NO NOX SO2 CC  PMI0
03 | 1.00 1.00
NO2 | -0.69 1.00 -0.75  1.00
NO | -0.70 0.84 1.00 -0.59  0.73 1.0
NOX | -0.73 0.96 0.96 1.00 -0.69 0.89  0.96  1.00
SO2 | 0.29 0.22 0.04 0.14 1.00 0.09 035 019 027 1.00
CO | -0.28 0.60 0.48 0.57 0.44 1.00 -0.61 0.80 0.86 0.90 0.31 1.00
PM10 | 0.35 0.05 0.00 003 0.67 025 1.00/ 0.05 0.33 035 037 055 048 1.00
Zs | -0.22 -0.07 0.10 0.02 -0.04 0.09 0.03 -0.15 0.02 0.08 0.06 -0.08 0.04 -0.08
Z% | 056 -0.52 -0.45 -0.50 0.22 -0.24 0.29 0.66 -0.50 -0.32 -0.42 -0.06 —0.43 —0.04
&% | -0.54 0.45 0.41 045 -0.18 0.17 -0.14 -0.33 0.14 019 0.18 -0.18 0.19 0.02
2% 026 0.14 0.06 0.10 0.24 0.05 0.26] 029 0.01 -0.03 -0.02 0.16 -0.07 0.10
UAZ 049 -0.47 -0.33 —-0.42 0.20 -0.16 0.18 0.45 -0.41 -0.20 -0.29  0.12 -0.20 0.09
U 0.45 -0.49 -0.33 -0.42 0.11 -0.20 0.11 0.51 —0.46 -0.25 -0.34  0.09 -0.25 0.07
=INES
Correla 11~16A1 X2 10Al OI&, 17Al OIEXIZ
tions | 03 NO2 NO NOX SO2 CO PMIO| 03 NO2 ~NO NOX SO2 CC  PMI0
03 | 1.00 1.00
NO2 | -0.67 1.00 -0.80  1.00
NO | -0.58 0.81 1.00 -0.54  0.64  1.00
NOX | -0.67 0.97 0.93 1.00 -0.74  0.90 0.91  1.00
SO02 | 0.31 0.29 0.21 0.27 1.00 0.01 040 018 032 1.00
CO | -0.21 055 057 058 0.45 1.00 -0.60 0.78 0.76 0.85 0.45 1.00
PM10 | 0.34 0.18 0.16 0.18 0.68 0.33 1.00/ 0.10 026 020 025 057 0.40 1.00
Zs | -0.03 -0.18 -0.11 -0.16 —0.17 0.04 —-0.10 0.27 -0.36 -0.21 -0.31 -0.14 -0.27 -0.08
Z2 | 049 -0.41 -0.34 -0.40 0.26 -0.15 0.25 0.68 -0.58 -0.32 -0.49 -0.10-0.47 0.01
&% | -0.51 0.42 014 032 -0.18 0.20 -0.10 -0.28 0.11 0.12 0.12 -0.18 0.14 -0.02
2% | 020 019 001 012 020 009 030 027 -0.03 -0.09 -0.07 0.09-0.09 0.17
2AZ | 0.46 —0.38 -0.06 —0.26 0.23 —0.08 0.15 0.42 -0.30 -0.08 -0.18  0.14 -0.14 0.09
W | 0.41 -0.42 -0.07 -0.29 0.13 -0.12 0.07 0.46 —0.36 -0.12 -0.23  0.11 -0.18 0.07
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1) OFAIA(SO,)
@® QEHA xNsT= 0 240l 1620 0.008ppm, &loll H3IS0l 1720
0.008ppmOI ¥ S.
® A =T = 0FAFKIZ0] 0.004ppm, &6l Z3=0] 0.005ppml 2 LIEGS.
@ ME0H BasE=s 2 X2 25 0.001ppm &H UEIGCH, 8 S& gl
HasEes 0 3RS, s2s 2 Ao H3ks0l 22 0.007ppm, 0.001ppm,
0.004ppm <A LIEISS.
& Z8% SO, & JI0l= DKt SIRSS ULSE, 22452 NLMNE, W st
s 20N 22 210 sEE LEY.
= S| A S (0FA) 2= (0 2SS (XIH)
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a”A SO, — s 2gd SO, ——3eE
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g E
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@ 287 zIsTeE Okt 2#FS01 9201 0.039ppm, &oi Hat=0l 50

® 28R sL= 0FAFRIZ0l 0.020ppm, &lol 23S0l 0.016ppme 2 LIEIGS.

0
@ MUY BRSO OIS 0.004ppm, &lo H3t=2 0.003ppm 246D, &
EH =2 ]| Ot SIS, 224 2 Xl H3k=0l 22 0.002ppm, 0.007ppm,

0.001ppm <A LIEISGS.

® SEE NO: sk JIHEE Y, ORHNE2 HAHE D2 deks 20 Aol

datse S30M 21 s=5 UEY

= 3| 2 S(0rat) S S(0ke) S (N oH)
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6] LIS EY LT

@ 2 NS0 et 84St A22HE H4HEH 02 B LA, Uvete
a2td0l 11~16A1 A0l Xt2= 0.43~0.53, 0.38~0.492 LIEHGSUL, 10Al Ol& 1t
17Al 0l= Xt== 0.19~0.24, 0.18~0.23= & XotHl EUHE.

@® UIISSE2Y 220t =2 =2 Ozt NOZM 11~16A1 A0l Xt=2=
—-0.64~-0.6601H, 10Al O|& 17Al Ol Xt== -0.69~-0.812 LIEIISH
AZHOl aF2t810] 2s8t 52 422 AHE e

@® HIIRSE=E S CO% NO2 a2tH == 11~16Al A0l It2= 0.03~0.53,

10Al O™t 17Al Ol=

AI2HCH It

AL

AE2Es 0.53~0.772=2
Ol O =H UEIRS.

=X C
/] o L

|04 10Al OI& 1 17Al Ol=

O - O
QIUS
of 2t 11~16Al Xt= 10Al OI&, 17Al OIFXZ
H == O3 NO2 NO NOx SO CO PM10 O3 NO2 NO NOx SO2 CO PM10
Os 1.00 1.00
NO, |-0.64 1.00 —-0.81 1.00
NO |-0.64 0.72 1.00 -0.55 0.64 1.00
NOx |-0.69 0.93 0.92 1.00 -0.71 0.85 0.95 1.00
SO, | 0.21 040 0.17 0.31 1.00 -0.14  0.42 0.23 0.34 1.00
CO |-0.083 0.46 0.40 0.46 0.53 1.00 -0.60 0.77 0.76 0.84 0.47 1.00
PM10 | 0.34 0.18 0.07 0.13 0.71 0.43 1.00 | 0.05 0.24 0.23 0.26 0.41  0.42 1.00
=g | 0.04 -0.37 -0.18 -0.30 -0.27 -0.11 -0.15| -0.07 -0.10 -0.02 -0.06 -0.08 0.02 -0.05
=% | 0.44 -0.52 -0.40 -0.50 0.04 -0.15 0.13 | 0.64 -0.66 -0.37 -0.52 -0.11 -0.45 -0.07
=% | -0.48 0.50 0.26 0.40 0.01 0.22 -0.02| -0.29 0.17 0.1 0.14 -0.15 0.17 0.01
=% | 028 0.17 -0.08 0.05 0.31 0.15 0.30 | 0.14 0.11 -0.06  0.01 0.13 -0.01 0.18
2 AteF| 0.43 -0.46 -0.18 -0.35 0.14 -0.09 0.15| 0.19 -0.17 -0.05 -0.09 0.18 -0.05 0.08
uv 0.38 -0.49 -0.18 -0.36 0.05 -0.13 0.07 | 0.18 -0.19 -0.07 -0.11 0.15 -0.08 0.08
[—=Yo] 1=
ocao
oz 11~16Al Xt= 10Al OI&, 17Al OIFXZ
| = O3 NO2 NO NOx SO CO PM10| Os NO2 NO NOx SO2 CO _ PM10
Os 1.00 1.00
NO, |-0.65 1.00 -0.69 1.00
NO |-0.71 0.79 1.00 -0.56  0.63 1.00
NOx |-0.72 0.95 0.94 1.00 -0.68 0.87 0.93 1.00
SO, | 0.04 0.53 0.28 0.43 1.00 -0.13 0.53 0.35 0.47 1.00
CO |-0.09 0.23 0.34 0.30 0.26 1.00 -0.36  0.51 0.63 0.64 0.37  1.00
PM10 | 0.10 0.42 0.25 0.35 0.68 0.21 1.00 0.15 0.20 0.22 0.23 0.39 0.44 1.00
g |-0.04 -0.12 -0.05 -0.09 -0.18 0.05 -0.07 0.15 -0.03 0.02 0.00 0.09 -0.10 0.00
=% | 0.47 -0.38 -0.35 -0.39 -0.04 0.00 0.10 | 0.57 -0.44 -0.31 -0.40 -0.18 -0.30 -0.03
=% |-0.56 0.43 0.38 0.43 0.04 0.17 -0.01 -0.40 0.12 0.14 0.15 -0.12 0.17 0.00
=& | 021 018 0.01 0.11 0.38 -0.03 0.33  0.20 0.16 0.01 0.08 0.36 -0.02 0.21
2AtE | 0.52 -0.39 -0.32 -0.38 0.09 -0.04 0.09 | 0.20 -0.12 -0.11 -0.12 0.22 -0.06 0.09
uv 0.49 -0.45 -0.35 -0.42 0.00 -0.07 0.01 0.23 -0.14 -0.14 -0.15 0.16 -0.07 0.08




o 11~16Al Xt= 10Al OI&, 17Al OIFXZ

H == O3 NO2 NO NOx SO CO  PM10 O3 NO2 NO NOx SO2 CO _ PM10
Os 1.00 1.00

NO, |-0.66 1.00 -0.75 1.00

NO |-0.59 0.69 1.00 -0.45 0.64 1.00

NOx |-0.69 0.97 0.84 1.00 -0.65 0.89 0.92 1.00

SO, | 0.38 0.05 -0.10 0.01 1.00 0.09 0.33 0.28 0.34 1.00

CO 0.20 0.08 -0.01 0.03 0.46 1.00 -0.40 0.70 0.73 0.79 0.52 1.00

PM10 | 0.36 -0.04 -0.16 -0.08 0.63 0.34 1.00 | 0.13 0.14 0.23 0.21 0.53 0.41 1.00
=g | 0.14 -0.28 -0.21 -0.27 0.06 0.14 0.07 | 0.24 -0.18 -0.14 -0.18 0.01 -0.11 -0.02
=% | 0.38 -0.55 -0.17 -0.46 -0.03 -0.01 -0.01| 0.62 -0.64 -0.26 -0.48 -0.18 -0.35 -0.12
& |/ -0.39 0.37 0.18 0.34 -0.01 -0.07 -0.03| -0.34 0.20 0.10 0.16 -0.01 -0.02 0.06
=& | 0.283 0.07 -0.21 -0.02 0.39 0.06 0.38 | 0.09 0.10 -0.01 0.05 0.32 -0.04 0.21
2AtE | 0.53 -0.46 -0.04 -0.36 0.29 0.22 0.18 | 0.24 -0.22 -0.04 -0.11 0.17 -0.01 0.08
uv 0.44 -0.38 -0.01 -0.29 0.11 0.13 0.07 | 0.283 -0.22 -0.11 -0.16 0.10 -0.08 0.06

Ch TZF, OISXIY SHAMSEZLIENT @ 8

0

T =
2B+ sE= A== 0.003ppm, WHets, 0.006ppm, &AHE = 0.007ppm, ot=ss0|
0.005ppma AHS0| JIHE =H LIEIGS.
M2 UH 2742 A2 0.002ppm2 A, UIetE 0.001ppm& A, ABEES2

0.001ppm&AA5IAU L, cl=ssSS2 &US.

®

@ dYE SE0H HastEse a=ESs 0.001ppmza, Hets 0.003ppmza, AHESsS
0.002ppm& 4, ots22 0.001ppmsItet
@® ZS0 2 SOk JHEsE MAEs2 HsZ YNXN30A, Uotse2 s
S S30AN, B2 SA30AM, ots2 Es30 M DsSIt LIEHE
- AEEEES WEEES ABS(F stsg
3g 0.003 0.006 0.007 0.005
Sk 0.005 0.007 0.008 0.005




0.025

0.020

_ —4&F frs ——dES

olm 3 §02 - 2" SO, M

0.020 —_—AE ] —tr— ANHE
—=s 0015 -0,;2 —

== SIS

(ppm)

20010

N A

0.005

Conc.(ppm)

Conc

0.000 * * : . . . 0.000
1 3 656 7 9 11 13 156 17 19 21 23 25 27 29 31 1 2 3

2(day) #(Month)

28D SO,k H3al E8HT SO =k B3t

otsS
N

@ LB xNsEE dF 4330 0.042ppm(162), otSS 0.020ppm(9L)AS.
@® 87 sE&= &= Uers0l 0.0220pme2 JHY =1, stss2 0.011ppm%US.
® NMEUH Bastes 42 0.009ppm 24, UetES 0.002ppm 24, &ES

© )

0.006ppm& 4, ots& 0.001ppm SIHE.
MdE SEUH EFsEs Uets 0.006ppm 24, AESES 0.006ppmSItet

@
@®© UOIEIIE =0 2= 1 1AI2H 24A12F DIE =0 25= 88,
@

iz A2S(@F) Hers (R ABS(RE stss
3 0.017 0.022 0.020 0.011
S| 0.028 0.024 0.026 0.010
dd =& 0.018 0.028 0.014 0.011




0.060 0.060
2T NO, —uss
——riots
—— S|
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28D NOsk H3t 282 NO.zk 3l

NNW  offgg  NNE
NW - egg

& o
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@
M0
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O
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o fIr
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19
Mo
0z

= 0.009ppm3&Jt, ot=s& 0.008ppm SItot
ots22 M2t 2= SHAWHA 0.003~0.009ppm SIHE.

® S0 E Oz JIHEE =2 S2S MIUs 8199, Hes=2
SS30A, dES2 NS0lA, ots2 83l SASUHA D=5t LIEHE.

iz AES@E tHets(xF ABS(RF) stss
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6)
@

@

= ASE(XF) CHOHS (RIF) AHES(XF) ol=sS
32 48 67 66 58
e 59 79 69 63
HE =g 70 73 - 58
"6 PM10 ——ys3
1000 —a—rfots |
——MEE

&
750 T

500

Conc.(ppm)
Conc.(ppm)

250

: : : * * * 0.0
1 3 65§ 7 9 11 13 1517 19 21 23 25 27 29 31 1 2 3

2(day)

HIILESEY ST
DEXA0 TS QED JIATEAS HRABHE B8 S 259 HL
11~16A1 AIO] &2tH|%D} ~0.57~-0.61, 0.10~0.122 UEHY, 382 22

ST g22HDE =2 219Z LIEHE.
SUAREEDE UVEl 11~16A1 AFOI &f2tH|==Jt 0.49~0.55, 0.48~0.56Z LIEHGOLL,
10AlI OI& 17Al Ol Xt=22 H2 0.28~0.30, 0.24~0.282 LIELL.

oa== 11~16A1 A0l 2E1 IIRLESE AMHERsE 2=
NO>CO>PM10>S0, =MZ LHEHCH, NO2t @FS| al2tAl=Jt —0.715 UEH.
CHOtS 11~16A1 AFOl 2Z0 HIILESE ARHEZsT adtHe==
NO>CO>SO=PM10 =AMZ LEHCH, NO2t QFS| al2tAIe=It —0.675 UEH.
S8 S 11~16A1 A0l 2E1 IS SE AMHERsE &2 ==



NO2>SO>PM10>CO =MZ LHEHGCH, NO2t 2FS| al2tA+=Jt —0.685 LEH.

ot XG0l CHet 2@ED J|&X=2te] A22HE 28 52t 22| 2 11~16A1 AHO]
=2 A0z LHEHE,*.

AEAI==DF -0.50, 0.142 LEHLY, 3BE SE2| Al2t2iDt =
SALE, UVete] &2tE0l 11~16A1 ALOIS| af2tAHZ=Dt 0.39, 0.522 LIEHGS LY,

OI

10Al Ol& 1t 17A1 Ol= K=l B2 0.14, 0.24= Mot EUHE.
ot=8 11TAl~16Al QDL UIILI=2E AHEIEsE A2 He=
NO>PM10>CO>S0: =AZ LIEHGCHH, NO2F @F2| aletHl=)t —0.425 LIEH.

3BE NF &Y &=, ots 4 S0 2N J|dAz e 2AHE

2
SOEAESUVD>ESE>E2E =22 g2HIt = UEE2H, UIIE8=E22
NO-2t @ZFC| at2tH=DF =i LIEtG, O LESE 2 22Dt M2 e

LIEHS.

yEs

A2 11~16Al Xt2 [ 10Al OIA, 17Al 0IF X2 [
E= Os NO> NO NOx SO» CO | PM10 Os NO> NO NOx SO, CO | PM10
Os 1.00 1.00

NO. |=0.56 1.00 -0.57 1.00
NO |-0.52 0.69 1.00 -0.52 0.56 1.00

NOx |=0.59 0.98 0.82 1.00 -0.61 0.96 0.78 1.00

SO, |-0.19 0.65 0.46 0.64 1.00 -0.33 0.56 0.35 0.55 1.00
CO |-0.34 0.76 0.67 0.79 0.70 1.00 -0.59 0.72 0.67 0.79 0.54 1.00

PM10| 0.15 0.45 0.30 0.43 0.70 0.48 1.00|-0.01 0.42 0.17 0.38 0.33 0.41 1.00
=5 0.41 -0.28 -0.29 -0.30 0.00 -0.04 0.15] 0.68 -0.41 -0.31 -0.42 -0.26 -0.45 -0.12
& |-0.59 0.44 0.14 0.38 0.12 0.29 0.04}-0.51 0.28 0.12 0.26 0.05 0.37 0.12
=25 0.12 0.32 0.00 0.25 0.15 0.18 0.30] 0.17 0.36 -0.08 0.25 0.13 0.11 0.23

LAzl 0.51 -0.34 -0.09 -0.30 -0.03 -0.08 0.08 0.28 -0.25 -0.04 -0.19 -0.12 -0.12 0.05

Uv 0.49 -0.38 -0.12 -0.33 -0.16 -0.15 -0.02) 0.25 -0.25 -0.07 -0.19 —-0.09 -0.14 0.05
iots
&bzt 11~16Al X2 [ 10Al Ol&, 17Al OIF Xz [
E= Os NO> NO NOx SO» CO | PM10 Os NO> NO NOx SO, CO | PM10
Os 1.00 1.00
NO., |=0.67 1.00 -0.65 1.00
NO |-0.68 0.71 1.00 -0.60 0.61 1.00
NOx |=0.72 0.97 0.86 1.00 -0.70 0.94 0.84 1.00
SO, |-0.12 0.58 0.41 0.56 1.00 -0.33 0.70 0.46 0.67 1.00
CO |-0.46 0.69 0.68 0.73 0.76 1.00 -0.59 0.62 0.74 0.74 0.63 1.00
PM10| 0.12 0.34 0.16 0.30 0.69 0.37 1.00]-0.05 0.38 0.15 0.32 0.48 0.43 1.00
25 0.45 -0.21 -0.32 -0.27 0.18 -0.09 0.34f 0.70 -0.34 -0.35 -0.38 -0.17 -0.42 -0.02
& |-0.57 0.30 0.29 0.31 0.07 0.34 0.00]-0.44 0.06 0.14 0.10 0.00 0.33 0.07
C

2] 0.49 -0.27 -0.27 -0.29 0.03 -0.19 0.09] 0.30 -0.21 -0.13 -0.19 -0.09 -0.11 0.05

0.10 0.26 0.01 0.19 0.22 0.11 0.25 0.08 0.35 0.06 0.26 0.20 0.13 0.24

0.48 -0.32 -0.29 -0.34 -0.09 -0.27 -0.02} 0.28 -0.22 -0.14 -0.20 -0.10 -0.12 0.07




Az 11~16Al X2 [ 10Al OI&, 17Al OIF X2 [
H A Os NO» NO NOx SO» CO | PM10| Os NO» NO NOx  SO2 co  PM10
Os 1.00 1.00

NO, |=0.68 1.00 -0.59 1.00

NO |-0.20 0.33 1.00 -0.11 0.25 1.00

NOx |=0.68 1.00 0.38 1.00 -0.58 1.00 0.30 1.00

SO, |-0.36 0.62 0.16 0.62 1.00 -0.19 0.46 0.15 0.46 1.00

CcO 0.16 0.00 -0.07 0.00 0.12 1.00 0.16 0.03 -0.01 0.03 0.00 1.00
PM10]1-0.18 0.37 0.14 0.37 0.71 0.13 1.00]-0.15 0.32 0.03 0.32 0.40 0.24 1.00
=5 0.20 -0.06 -0.06 -0.06 0.13 0.23 0.33] 0.65 -0.34 -0.01 -0.34 0.06 0.08 0.04
=& |-0.61 0.56 0.20 0.56 0.17 0.02 0.04}-0.51 0.43 0.12 0.43 0.00 0.14 0.12
=25 0.11 0.10 0.06 0.10 0.26 -0.09 0.24] 0.20 0.15 0.07 0.16 0.45 0.01 0.24
At 0.55 -0.49 -0.19 -0.49 -0.12 0.09 0.05f 0.29 -0.25 -0.21 -0.26 -0.05 0.07 0.05
Uv 0.56 —0.52 -0.18 -0.52 -0.20 0.08 -0.05) 0.24 -0.24 -0.19 -0.24 -0.06 0.04 0.05
otsS

&bzt 11~16Al At= [ 10Al Ol&, 17Al OIF Xz [

E= Os NO> NO NOx SO» CO | PM10 Os NO> NO NOx SO, CO | PM10
Os 1.00 1.00

NO., |=0.42 1.00 -0.49 1.00

NO |-0.59 0.76 1.00 -0.38 0.42 1.00

NOx |=0.50 0.98 0.87 1.00 -0.58 0.94 0.69 1.00

SO, |-0.02 0.83 0.47 0.76 1.00 0.00 0.70 0.21 0.63 1.00

CO |-0.17 0.81 0.53 0.77 0.89 1.00 -0.35 0.67 0.38 0.67 0.69 1.00

PM10| 0.24 0.44 0.23 0.40 0.57 0.40 1.00] 0.11 0.16 0.08 0.15 0.24 0.19 1.00
=5 0.40 0.10 -0.09 0.05 0.36 0.30 0.26] 0.61 -0.16 -0.12 -0.17 0.22 -0.06 -0.05
& |-0.50 0.23 0.22 0.24 -0.05 0.04 0.01}-0.52 0.09 0.10 0.11 -0.20 0.08 0.09
=25 0.14 0.34 0.16 0.30 0.29 0.28 0.28] 0.21 0.29 0.12 0.27 0.32 0.13 0.19
At 0.39 -0.17 -0.17 -0.18 -0.04 -0.04 0.04| 0.14 -0.38 -0.16 -0.33 -0.26 -0.23 -0.09
Uv 0.52 —0.37 -0.28 -0.36 -0.07 -0.11 0.00}] 0.24 -0.29 -0.12 -0.24 -0.10 -0.05 0.04
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ooy, 89 3 Ul 2= SE A0 A 0.001~0.004ppm& 20U S.
@® 30U OHE SO, =& JIHEE 420l XM30UHM &30 =H LHE

L, S22 A=SA3UHMH S=2s32U =H LIEtE
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6] LIS E9 T
@ %/\PE
- 032 NOx= SAa22AH=Z 11~16A1 AOI(=0.74)Jt 10Al OI&Dt 17Al Ol=
(-0.72)£C+ =1, PM10Dt SO.= 0.7322 = AR =8 A28 S LIEHY,
- SEIZAIZH0 &dot=s NHSXtE BHIIDAS] S22 CO 2F 05, NOz 2 af2t2t
= & AZHH 20 10A1 Ol 17A] Ol=0l =2 a2dS LI,
- S AR &2 CO2tel a2t2tH= 0.622 HRLE B1R2 geez HHE.
- Sas2 ZAEED UVE 032t NO2tel 2HHIUIA Dt 2 a2t HI=E LIEHE.
Correla 11~16Al Xt& 10Al OI&, 17Al OIZXZ
tions | 03 | NO2 | NO | NOX | S02 | CO |PM10| 03 | No2 | NO | NOX | S02 | CO | PMI0
Os | 1.00 1.00
NO. -0.74 1.00 072 1.00
NO 056 0.69 1.00 053 055 1.00
NOx -0.72 0.93 0.90 1.00 071 087 089 1.00
SO: | -0.07 047 042 049 1.00 -0.33 042 025 038 1.00
CO  -0.44 044 040 046 045 1.00 062 061 067 073 053 1.00
PMIO 002 031 027 032 073 038 1.00 -0.09 019 020 022 057 052 1.00
22 034 -0.52 -0.34 -0.48 -0.16 -0.17 0.04 059 -0.57 -0.36 -0.55 -0.33 -0.49 -0.19
SE -056 048 026 041 008 062 003 -085 021 025 026 011 032 004
2% 008 030 015 026 045 019 024 003 024 008 018 038 016 027
QMZ  0.61 -0.60 -0.23 -0.47 0.02 -0.44 009 029 -028 -0.03 -0.14 015 -0.14 0.13
W 0.0 -0.63 -0.25 -0.49 -0.06 -0.48 0.00| 031 -0.33 -0.03 -0.16 0.1 -0.14 0.10
@ yLs
— 032t NOp= Gaf2t2HHZ 11~16A1 AFOI(=0.58) It 10Al OI& Dt 17A Ol=
(-0.70) 2L+ S LIELEL], PM102t SO.= & AIZHCHOF 0.792 & AIZHH 0.41
SO EN S2 ADAE PY
- EBEITARN 2AFE UEX BN REOR CO 2 0 NO O A
= S AIZIU 20 10A Ol 17A1 Ol=0 =2 of2dS LIEH.
Correla 11~16Al X2 10Al OIF, 17Al OIBXR
tions | 03 NO2 NO NOX SO2 CO PMIO| 03 NO2 NO NOX SO2 CO  PMIO
0: | 1.00 1.00
NO, | -0.58 1.00 070 1.00
NO | -0.55 0.76 1.00 050 058 1.00
NOx | -0.60 0.95 0.93 1.00 064 08 094 1.00
SO, | -0.04 0.63 0.47 059 1.00 038 061 065 071 1.00
CO | -0.31 060 062 0.65 062 1.00 053 071 069 078 0.66 1.00
PMIO | 003 045 029 040 079 055 1.00 -0.05 038 022 031 041 052 1.00
2 | 045 -055 -042 -0.52 -0.13 -0.20 -0.01 053 -0.61 -0.32 -047 -0.35 -0.42 -0.17
SE | -041 041 018 033 -0.02 049 -0.01 -0.36 023 018 022 011 024 005
2= | 005 040 007 027 0038 027 -0.86 005 027 003 013 009 017 027
QA | 048 -047 -0.19 -0.36 0.06 -0.10 0.11 021 -0.18 -0.01 -0.06 0.1 0.0 0.8
W | 048 -053 -022 -0.41 -0.04 -0.15 0.02] 023 -0.22 -0.03 -0.08 007 0.00 0.05




® =25
~ 0% NOS ABBA= 11~16A1 ALOI(-0.75)7F 10AI OIFDH 17A 0%
(-0.78)2CH Sl LIEHSOLE AlS0ILE SAS0 Hloh &=
— Z20 OO 2ADH 10A1 ORI 17A1 0% AIICHOI 0.682 &2 MBS 2.
— 032 NOp= SABRAZ 11~16A1 AFOI(-0.78)JF 10Al OIF D 17Al 0I%
(-0.75)2CH = LiErg,

Correla 11~16Al Xt& 10Al OI&, 17Al OIFXZ

tions | 03 NO2 NO NOX SO2 CO PMI0O| O3 NO2 NO NOX  SO2 CO  PM10
Os 1.00 1.00

NO. -0.75 1.00 -0.78 1.00

NO -0.61 0.72 1.00 -0.55 0.60 1.00

NOx -0.75 0.97 0.87 1.00 -0.73 0.87 0.92 1.00

SO, 0.04 0.42 0.35 0.42 1.00 -0.24 0.54 0.46 0.55 1.00

CoO -0.15 0.31 0.28 0.32 0.26 1.00 -0.39 0.47 0.55 0.57 0.35 1.00

pPM10 0.20 0.21 0.10 0.18 0.58 0.37 1.00f 0.09 0.21 019 0.22 0.41 0.40 1.00
% 0.31 -0.18 -0.29 -0.23 0.12 -0.02 0.39] 0.68 -0.46 -0.35 -0.45 -0.11 -0.11 0.19
& -0.52 0.38 0.19 0.33 -0.15 0.42 -0.01| -0.43 0.20 0.13 0.18 -0.06 0.42 0.03
=& | 0.14 0.03 0.01 0.02 0.07 0.40 0.35 0.27 -0.06 -0.12 -0.11 -0.02 0.27 0.30
2AtE | 0.44 -0.36 -0.17 -0.32 0.11 -0.20 0.17| 0.21 -0.07 -0.22 -0.17 -0.02 -0.12 0.02
uv 0.40 -0.39 -0.18 -0.34 0.02 -0.19 0.07| 0.23 -0.05 -0.21 -0.16 -0.01 -0.13 0.00

At

(e

®
010

€0

— 032t NOol AfZE2H= 11~16A1 AOI(=0.64)JF 10Al OI&DF 17Al 0O|&
(-0.79) 2L+ A LIEHS.

— Z=7 Oz3f0 ZHHIDE 10Al OI™DE 17A1 Ol AIZICHO 0.702 =2 AZAZS B2l

— 032 NOO| AtZZH= 11~16A1 AMOI(=0.79)2F 10Al O|&™D 17Al 0O|&
(-0.64)2CH = LIEFL.

Correla 11~16A1 Xt= 10Al OI&, 17Al 012 X2

tions | 03 NO2 NO NOX SO2 CO PMIO| O3 NO2 NO NOX SO2 CO PMI0
Os  1.00 1.00

NO. -0.64 1.00 -0.79 1.00

NO -0.63 0.71 1.00 -0.54 0.58 1.00

NOx -0.69 0.94 0.91 1.00 -0.72 0.85 0.92 1.00

SO, 0.11 0.18 -0.17 0.02 1.00 0.19 0.10 -0.04 0.02 1.00

CO -0.22 0.15 0.33 0.25-0.01 1.00 -0.51 0.42 0.44 0.49 -0.07 1.00

PM10 0.22 0.22 -0.09 0.08 0.54 -0.02 1.00f 0.19 0.11 0.08 0.10 0.51 0.01 1.00
% 0.32 0.01 -0.11 -0.06 0.05 -0.17 0.38, 0.70 -0.52 -0.36 -0.48 0.16 -0.37 0.27
&&= -0.47 0.55 0.48 0.56 -0.15 0.24 -0.19| -0.47 0.32 0.27 0.33 -0.24 0.36 -0.15
=& | 0.16 -0.08 -0.40 -0.25 0.21 -0.09 0.35 0.47 -0.32 -0.30 -0.35 0.23 -0.24 0.25
2AE | 0.46 -0.52 -0.45 -0.53 0.13 -0.20 0.22| 0.35 -0.40 -0.21 -0.29 0.16 -0.25 0.10
uv 0.42 -0.56 -0.44 -0.55 0.03 -0.19 0.14| 0.40 -0.43 -0.26 -0.33 0.13 -0.30 0.06
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Po 0.0338ug/m’, Cd 0.0013ug/m', Cr 0.0481ug/m’, Fe 1.78261g/m, Ni 0.0225ug/ m’

0.5u8/m 2| 6.8%

: Cu 0.0513ug/m", Mn 0.1344ug/m
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Pb 0.0340ug/m, Cr 0.0585ug/m*, Mn 0.1776ug/m, Fe 2.26664g/M
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38 =35 ZAE BEST(re/m')

= TSP Pb Cd Cr Cu Mn Fe Ni
BAEIE - 0.5 - - - - - -

9 81 0.0357 = 0.0015 | 0.0413 = 0.0636 & 0.1638 | 2.1343 | 0.0243

10 49 0.0393 | 0.0011 | 0.0383 | 0.0388 | 0.0909 | 1.3639 | 0.0096

1< 67 0.0553 | 0.0017 | 0.0393 | 0.0536 | 0.1393 | 1.8441 | 0.0175

12 42 0.0243 = 0.0010 | 0.0436 | 0.0375 | 0.1205 | 1.5536 | 0.0171

18€ 65 0.0144 = 0.0011 | 0.0778 | 0.0629 | 0.1576 | 2.0172 | 0.0271

g 61 0.0338 @ 0.0013 @ 0.0481 @ 0.0513 | 0.1344 @ 1.7826 | 0.0191

= CH 81 0.0553 | 0.0017 | 0.0778 | 0.0636 | 0.1638 & 2.1343 | 0.0271

s EA 42 0.0144 = 0.0010 | 0.0383 @ 0.0375 | 0.0909 | 1.3639 | 0.0096

2008& 22 81 0.0540 @ 0.0014 | 0.0682 '@ 0.0329 | 0.1026 | 1.8093 | 0.0225

2008& 12 B 69 0.0636 = 0.0004 | 0.0056 @ 0.0271 | 0.0619 | 1.0235 | 0.0059

38 X|dE 325 TAsTee/m')
= TSP Pb Cd Cr Cu Mn Fe Ni
HHS-1(92) 79 0.0064 | 0.0017 | 0.0404 | 0.0606 @ 0.1543 = 1.9791 | 0.0281
FNS-2(10¢) 47 0.0547 | 0.0011 | 0.0349 | 0.0522 & 0.0684 | 1.0396 | 0.0108
BHS-3(112) 63 0.0539 | 0.0017 | 0.0355 | 0.0714 | 0.0839 | 1.1971 | 0.0236
BHS-4(12¢) 37 0.0339 | 0.0017 | 0.0380 | 0.0483 & 0.0782 | 1.0511 | 0.0203
HMS-5(182) 58 0.0192 | 0.0014 ' 0.0394 | 0.1031 | 0.0717 | 1.2264 | 0.0378
=S25-1(9¢) 84 0.0650 | 0.0014 | 0.0423 | 0.0667 | 0.1733 | 2.2894 | 0.0206
s2=s-2(10¢) 51 0.0239 | 0.0011 | 0.0417 | 0.0253 | 0.1135 | 1.6882 | 0.0083
S2s-3(112) 71 0.0567 | 0.0017 | 0.0432 | 0.0358 | 0.1947 & 2.4912 | 0.0114
sSAds-4(122) 47 0.0147 | 0.0003 | 0.0493 | 0.0267 | 0.1628 | 2.0560 | 0.0139
=23-5(182) 72 0.0097 | 0.0008 | 0.1161 | 0.0228 | 0.2436 @ 2.8080 | 0.0164
GASEZ 57 0.0336 @ 0.0015 | 0.0376 | 0.0671 | 0.0913 | 1.2987 | 0.0241
SgsED 65 0.0340 @ 0.0011 | 0.0585 | 0.0354 | 0.1776 | 2.2666 | 0.0141
38 F2 T 8Z WIE 335 sklke/m)

7 = TSP Pb Cd Cr Cu Mn Fe Ni

3 e 61 0.0338 | 0.0013 | 0.0481 0.0513 | 0.1344 | 1.7826 @ 0.0191

£ 62 0.0439 0.0010 | 0.0190 | 0.0588 @ 0.0489 | 1.4245 | 0.0144

O =+ 69 0.0283 | 0.0014  0.0044 @ 0.0914 0.0348 1.0213 0.0038

= ¢ 74 0.0420 A 0.0017 = 0.0050 | 0.0316 @ 0.1067 1.5064 0.0057




